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1) OEQ:  At the time people were attempting to develop a model of the atom, it was known that accelerating charges produced radiation.  Assume that the atom consists of electrons embedded in a massive, positively charged goo.  In this goo, the electrons experience a restoring force, when they are displaced form equilibrium, which is linear with displacement.  Using the spectroscopic data from the Lyman series, and the Planck/Einstein concept of quantized energy/light, determine the amplitude of oscillation (and thus the diameter of the atom?) for an electron in this goo.   Hint: treat the electron as a harmonic oscillator, ignore the complicated electrostatics/dynamics involved, and just solve for the effective “k” for the electron, using spectroscopic data for energies. 
T&L Problems:
4-1, 4-2, 4-6, 4-12, 4-14, 4-18, 4-22, 4-27, 4-34, 4-40, 4-50
